fEH VAR K4 JIEfL Gk JEEH ik
100m TEITHL | KW KEG) 2 fir 11.43 -0.9
T 6 i Sl ST ), 4 fir 11.48 +3.7
TiE 1240 | SR FEA) 3 ir 11.74 +0.9
200m TER13H | H  KFEG) 17 22.75 -1.9
T 5 (12 "FNG); 2L 23.51 -2.4
400m TiE 4 41 B FREACRR(3) 111 51.66
T 6 i B 2ERE3) 17 51.31
w’ s 6 fir 51.19
800m T 14 NG EHL(3) 1L 1:58.50
w’ s 3 fiL 1:57.82
T2 6 1 FIEZAYNG)) 3L 2:04.95
T 54 JNin - #2251 3L 2:05.06
1500m SA L= | EK FERHS) 10 iz 4:15.89
Hifge HoR(D) 13 {if 4:18.43
I S FNG)) 36 fif 4:38.44
5000m g4 nL—2 | ] #(3) 14z 16:05.35
M HERE(3) 5 fiL 16:24.56
T HEE(3) 15 {if 16:58.33
110mH T 1A WA H(3) 147 15.37 +0.2
w5 3L 15.04 -0.7
T 4 A FEE2) 2 fir 15.60 +1.4
W B 6 L 15.58 -0.7
T 2 i il BROR(1) 2 fir 16.02 +0.7
400mH T 6 i fHE () 1% 58.45
T 2 i I 5::6)) 2 fir 59.54
T 5 B’ ORHE©) 3L 58.18
3000mSC | # A sL—= | Bk Q) 5 fiL 10:18.62
i REQ) 13 fir 10:32.24
RS IER(1) 14 if 10:35.78
& e Bk N AR fEsR(2) 8 fir 6m40 -0.3
TSI (0 13 fir 6m19 +2.0
AR A 2H(2) 15 {if 6m16 +3.1
— Bk e B FAJ A 2R(2) 4 fr 14m13 +0.4
/IR FEBLEB) 12 i 12m82 +0.8
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fEH VAR K4 gL Eikas JEEH i
— Bk w AR A H(2) 17 fir 12m51 +1.2
fafL wm LI S (2) 6 fir 13m14
A A 7L 12m20
A (D) 12 {if 9m75
P w’ P b ZEik(1) 6 fir 36m13
BEH R 8 fir 32m47
e FEQ2) 25 fir 26m71
0 E A CHEQ) 8 fir 45m82
Il S (2) 16 fir 39m21
e FQ2) 27 if 29m07
4x100mR | T 6 i KAEB) 11 42.13
BH &)
FHROK—(©2)
el 123
w’ B S T ) 8 fir 43.76
FHR K2
/IR BESL(B)
ZWE AHE(3)
4x400mR | T 1 #i TN B2 K(3) 147 3:25.30
R RR(3)
R MiE(2)
FN - HERR(2)
w5 £ HERE(2) 2 fir 3:22.87
B CER(3)
ZWA ACHE(3)
(IR "FNG);
fiH VAZAZ K4 = RiEk R i
100m Tk 9 A s EA3) 147 12.88 -2.2
TS | ZE PNEFEOG) 2L 13.34 -2.4
i 7 HH H EAET() 6 fir 15.12 -1.6
200m T 45 ks Fi73) 1L 26.20 -1.2
wm 4 i1, 25.19 +2.2
TR | HEAETOG) 6 fir 30.48 -0.1
8/20~21 %5 65 [HI KPR 17245 5 S AR RA AR A B B 3B DB




fEH K4 JIEfL Gk
400m ik Fi(3) 1L 57.97
3 ir 57.75
= HEIH(2) 17 59.92
6 fir 58.83
100mH FREF  JRIE(2) 111 14.87
147 14.24
A SEAh(1) 17 15.14
3 fiL 14.85
400mH 2 NEE3) 3 fir 1:06.20
(RDA 1:07.56
B B4(2) 4 fir 1:12.33
BA A1) 5L 1:13.01
fie L5 & I i AL(2) 1 i1 13m48
M SEme(3) 11 7 8m69
FIHE< 5B 12 fif 8m66
P i oy B A AL(2) Z A 35m51
HH Q) 9 iz 27m58
0 & FIHE< 5B 4 fif 36m13
ko 5#R©2) 5fir 36m05
MIE ERe3) 14 {7 30m13
4x100mR AH EE®S) 2 fir 51.89
53 F=0)
I EAFETB)
ks FHi-(3)
4x400mR A B (2) 11 4:04.91
ZiE NEEG)
R AxE(2)
ks FHi-(3)
H EAET(3) EEA 4:10.14
wiE EG)
FrE EALS)
e FHi(3)
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